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Iif y = 2(x — 10)* + 20. v =2(x—10)%+ 20 s 13

Find the axis of symmetry. ALl 5 dag)

x =20

....................

....................



Use the graph of the equation dlalaall Aled) Jiadl) aadial)

. ail —x2 — —8 =
—x2 — 6x — 8 = 0 to determine its elsla & X" —-6x—-8=0 "

solutions. Xx=-3

B b. !
* 1 X = —4,X = —2

C.
Xx=—4x=-3

d.

X=-2,x=-3



Determine the number of solutions for the cshral) AU Jolad) sac ads

given system.

Ay |
6
-4
-2
~8—6-4-20] 2 4 b 8x .
—4 ! | 0
< o— =
_ 1 _8_ | :r ---------------------------------------
Y ™t
x|
2
d

Joladl (e (Algd ¥ aae A Al

The system has infinitely many solutions



Simplify +—125. A —125 ki

—5iV5

----------

----------

—25iV5



The necklace charm shown uses a blaa ol J& dadagal) SO andiud 2

quadrilateral inscribed in a circle. X Aol .1_.\93 B8l * i x =175
Find the value of x. ;
b.
X =90
C.
x =105
d.

x =100



If the probability of hitting the ball is o Lad <499, 5,8 Ly Jlaial lS 1)
499%, what is the probability that you 15l Qpa axe Jlaial
will not hit the ball?

94%

§° T N N

s ssmess=ss

58%

15%



How many possible outcomes are there oAl i Als 8 dladaal) il sue A€
if you spin the spinner, and you tossed a8} dadad clallg ) gall

24

the coin?




Identify a chord that is also L 5y5al) 2 o ga jig aa

a diameter.

KP

JN



Find the value of m/2.

p—
(=]
~

)

1
1
|
1
1
1
1
1
1
1
]
|
1
]
LT




2 _
Solve x* + x— 30 = —10. X2 +x—-30=-10 \>

X=—4x=5

b.

XxX=-5x=4
.

XxX=—§8x=6



Select the graph of the function 4lfalt Al Jiail) il
f(x) = x? — 2x — 3. f(x) =x*—-2x—-3




Use substitution to solve the system of e alaal) aUaS Ja gaasgeil) aladsiul

equations. 5x + 2y = 12
y=2x-—3

5x + 2y =12

y=2x—3 a.



20 cards numbered 1 to 20 are placed 220 )1 (e dadpe diths 20 iy Al
in a bag. What is the probability that al Al ddlad) (¢ O Jlaal ea Le v S
a card randomly chosen is 4 given that byidal) ddUaut) i< 1) 4 o Wilgde Wy)Las)

the chosen card is even number? Tlhag ) L,

LT T T



The table shows the number of devices in
electronic devices store according to type
and color of device. If Batool randomly
selects one of the devices, what is the
probability that she selects a white device

or a laptop?

Device Silver White

Phone 5 4
Ipad 3 1
Laptop 2 5

Ale B Bagagall Bgal¥) e miags Jgaal)

13) - Slead) Oty £ s A sl Bigal
Lad ¢ lgde (S Bigal) (gaa) Joi cuia)
gt Y gl paul Slea aylad) Jlas) g

S5 Y

15

15
20

10
20



Let A be the event of the spinner
landing on a yellow section, and let B be
the event of the spinner landing on a
section with a humber divisible by 2.

What are the possible outcomes of

ANB?

Aol Gl jdhe g Gas ga A OIS 13
e Ui Gus B g o jaa) gall Ll

2 o Al Sl ) ol sl
AN B 1 dlaall =l Lals

{2,4,6,8)

(2,4,6,8,10}

16



A bag of jellybeans contains 7 red, celpan adad 7 de el (ol € Jaida
10 yellow, and 13 green. Jalal picks two JUAL L glpiad dadad 13 g ¢ glyhun 2810

jellybeans from the bag without looking. B Ol 098 Gl Cre s ekl Dl

What is the probability that he picks ola dalid af glpas dabll glid) Jlaisl Lo

a red one and then a yellow one? 7 10
30 " 30

J° TN NN N N SN NN N

B o o -



In the figure, ©® P = Q.
Find RS.

155°

R 3x —7
(o]
P

S

205°

O P =0 Q i 2
‘RS A@\gi

18



“~
Find the length of AB
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